
 

 

 

CORRIGE   SESSION DE CONTROLE 

CORRECTION SCALE 

READING COMPREHENSION 15 marks 

1.   b  1  mark 

2.  
a) He had no address 

b) She declined the offer 

c) She set up a donation facebook page 

d) This is  going  to change the lives of an incredible amount of 

homeless people in Preston 

4 X 1 = 4 

marks 

3.   returning  wallets untouched to pedestrians  

 offering his scarf to keep people warm. 
2 X 1 = 2 

marks 

4.  
1  a 

2  c 

3  a 

3 X 1 = 3 

marks 

5.  
a)  moved 

b)  fundraiser 
2 X 1 = 2 

marks 

6.  
a)  Dominique 

b)  Dominique and the supporters 
2 X 1 = 2 

marks 

7.  Give a personal and justified answer 1 mark 

WRITING 15 marks 

 Content 

Language  

2 marks 

3 marks 

 Content 

Language 

Mechanics of writing 

4 marks 

4 marks 

2 marks 

LANGUAGE 10 marks 

1. polluted – were companies polluting – into – has caused – tragic – any  
6 + 0,5 = 

3 marks 

2. took – ever – concentrate – challenge – downloaded – recipe – with  
7 + 0,5 = 

3,5 marks 

3. 
Inspired – voluntarily – more – has photographed/has been photographing – survived – 

widest – is remembered 

7 + 0,5 = 

3,5 marks 

 

 

 

 


